=2000-2002

= ( , 200072001 ), ( ),
( )’ ( )1
, 2001/2002
— (DXNs)
ng TEQ/m?
DXNs (CPs)

DXNs CPs

(GC)

CPs / LC/ECD

CPs LC/ECD CPs

TVOX



DXNs

DXNs
DXNs
1,2 DXN
CPs
1. CPs CPs
CPs
2. LC/ECD
3. CPs
4. TVOX
5. CPs LC/ECD ( )
LC/ECD ( ) LC/ (MS) -GC/MS
CPs LC/ECD
6.
1.2ton/8 10 ( 50ton/16 ) 100
7. CPs

8. DXNs CPs5 TVOX DXNs



PCDDs PCDFs TEQ

10 HCI 4
1. CPs
2 CPs (FGSA-1
3um) / =60/40(
5mL 2L/min
CPs
)
[ECD, ;
( )
CPs
15
2. CPs
LC/ECD LC/MS -GC/MS
LC/ECD
LC/ECD 3 GC/MS 2
5 2,4-DICP 3 LC/ECD
GC/MS LC/ECD

CPs

DXNs17

PCBs12

2) [

Inertsil ODS-3 100mmx2.1mml.D.

0.2mL/min) 35-50

(LC)
1200mV /
FGSA2

ng/m?

LC/ECD

pg/mL

LC/MS 500

2,4,6-TriCP LC/ECD



1

2
4.

CPs
ug/m3

CPs ( ) 1000

5.
2,4,5-

3,5-DICP  2,4,6-TriCP

r=0.9

Cl 2 3 Cps 11

GC/MS

ng/m?

CPs APCI/MS

CPs LC/ECD

TVOX
1 3%
25 480ml
(PID)
10
1/100
100
DXNs
2
CPs
2,3
DXNs
(r=0.7 )
Cl CPs r=0.7
5

(cv.) 1 5%

(TO-14) 28 [

Hall

2,4-. 35-. 2,3,6-. 2,4,6-.

2,4-DiCP

CBs PCB

2,4-DiCP 2,4,6-TriCP

2



DXNs

LC

TVOX

CPs

DXNs

CPs

DXN

15

LC CPs

TVOX



